

非线性谐波失真系数

谐波失真

$$k = \frac{\sqrt{\sum_{n=0}^{\infty} A_n^2}}{\sum_{n=1}^{\infty} A_n^2}$$

$$THD = \frac{\sqrt{\sum_{n=2}^{\infty} A_n^2}}{|A_1|} = \frac{\sqrt{\sum_{n=2}^{\infty} \frac{1}{T} \int_0^T (A_n \cos n\omega t)^2 dt}}{\frac{1}{T} \int_0^T (A_1 \cos \omega t)^2 dt}$$

1dB 压缩点

$$20 \lg \frac{Gain - Linear \cdot P_{in}}{Gain - notLinear \cdot P_{in}} = 1 \text{ dB}$$

线性增益 $\frac{A_1}{U_{in}} = a_1 + \frac{3}{4} a_3 U_{in}^2 = V_B$

在这里 $20 \lg \left(\frac{V_B}{a_1} \right) = 20 \lg \left(1 + \frac{3}{4} \frac{a_3}{a_1} U_{in}^2 \right) \approx \pm 1 \text{ dB}$

$$1 \text{ dB} \approx \pm 1 \text{ dB} = \sqrt{\frac{4a_1}{3a_3} \left(10^{\pm \frac{1}{20}} - 1 \right)}$$

三阶截止点

$$\left| \frac{A_2}{A_1} \right| = \left| \frac{A_3}{A_1} \right| = 1$$

$$HD_2 = \left| \frac{A_2}{A_1} \right|$$

$$HD_3 = \left| \frac{A_3}{A_1} \right|$$

$$1/PHD_2 = \left| \frac{A_2}{A_1} \right| = \frac{\frac{1}{2} a_2 U_{in}^2}{a_1 U_{in} + \frac{3}{4} a_3 U_{in}^3} = \frac{\frac{1}{2} a_2 U_{in}}{a_1 + \frac{3}{4} a_3 U_{in}^2} \approx \frac{1}{2} \frac{a_2}{a_1} U_{in} = 1 \Rightarrow U_{in} = \frac{2|a_1|}{|a_2|}$$

$$1/PHD_3 = \left| \frac{A_3}{A_1} \right| = \frac{\frac{3}{4} a_3 U_{in}^3}{a_1 U_{in} + \frac{3}{4} a_3 U_{in}^3} = 1 \Rightarrow U_{in} = 2 \sqrt{\frac{a_1}{a_3}}$$

NL-01.

不考虑厄廷效应 (CIY >> UCB)

$$1. U = I \cdot R + U_{BE} \\ = I \cdot R + U_T \ln \frac{I}{I_0}$$

$$U_0 = 50 \times 10^{-6} \times 10^3 + 26 \times 10^{-3} \ln \frac{50 \times 10^{-6}}{4.7 \times 10^{-15}} \\ = 650 \text{ mV}$$

$$2. U = IR \cdot U_T \ln \frac{I}{I_0}$$

$$a_0 = U_0 = 650 \text{ mV}$$

$$a_1 = \left. \frac{dU_0}{dI_0} \right|_{I=I_0} = R + U_T \frac{I_0}{I_0^2} \cdot \frac{1}{I_0} = R + \frac{U_T}{I_0} = 1520 \frac{\text{V}}{\text{A}}$$

$$a_2 = \left. \frac{d^2U}{dI^2} \right|_{I=I_0} = -\frac{U_T}{2 I_0^2} = -5.2 \times 10^6 \text{ V/A}^2$$

$$a_3 = \left. \frac{1}{6} \frac{d^3U}{dI^3} \right|_{I=I_0} = -\frac{U_T}{6} \cdot -2 \cdot \frac{1}{I_0^3} = \frac{U_T}{3 I_0^3} = 6 \text{ p. } 3 \cdot 10^9 \text{ V/A}^3$$

$$3. U = a_0 + a_1 \cdot \hat{I} \cos \omega t + a_2 (\hat{I} \cos \omega t)^2 + a_3 (\hat{I} \cos \omega t)^3$$

$$A_0 = a_0 + \frac{a_2}{2} \hat{I}^2 = 64 \text{ mV}$$

$$A_1 = (a_1 \hat{I} + \frac{3}{4} a_3 \hat{I}^3) = 30.8 \text{ mV}$$

$$A_2 = \frac{a_2}{2} \hat{I}^2 = 1.6 \text{ mV}$$

$$A_3 = \frac{1}{4} a_3 \hat{I}^3 = 0.13 \text{ mV}$$

$$4. HD_2 = \left| \frac{A_2}{A_1} \right| = 0.0338 \quad HD_3 = \left| \frac{A_3}{A_1} \right| = 0.0044$$

$$5. \frac{V_B}{I_{1dB}} = \frac{A_1}{I} = a_1 + \frac{3}{4} a_3 \hat{I}^2$$

$$a_1 = R + \frac{U_T}{I_0}$$

$$20 \lg \frac{V_B}{A_1} = \pm 1 \text{ dB}$$

$$I_{\pm 1dB} = \sqrt{\frac{4a_1}{3a_3} (10^{\pm 20} - 1)} \quad \text{由题目取正}$$

$$I_{1dB} = \sqrt{\frac{4a_1}{3a_3} (10^{\frac{1}{20}} - 1)} = 5.77 \times 10^{-5} \text{ A} = 57.73 \text{ nA}$$

$$6. IP_{HD_2} = \left| \frac{a_1}{a_2} \right| = 57.73 \text{ } \mu\text{A}$$

$$IP_{HD_3} : \left| \frac{A_3}{A_1} \right| = 1 \Rightarrow \frac{\frac{1}{4} a_3 \hat{I}^3}{a_1 + \frac{3}{4} a_3 \hat{I}^2} = 1 \Rightarrow IP_{HD_3} = \frac{1}{a_1} \cdot \frac{1}{2} \sqrt{\frac{4a_1}{3a_3}} = 2 \text{ } \mu\text{A}$$

$$7. i = b_1 u + b_2 u^2 + b_3 u^3$$

$$= b_1 (a_1 i + a_2 i^2 + a_3 i^3) + b_2 (a_1 i + a_2 i^2 + a_3 i^3)^2 + b_3 (a_1 i + a_2 i^2 + a_3 i^3)^3$$

$$\Rightarrow i = b_1 a_1 i + (a_1^2 b_2 + b_1 a_2^2) i^2 + (2b_2 a_1 a_2 + b_1 a_3^2 + b_3 a_1^3) i^3$$

$$\Rightarrow \begin{cases} b_1 a_1 = 1 & \Rightarrow b_1 = \frac{1}{a_1} = 0.659 \times 10^{-3} \text{ A/V} \\ a_1^2 b_2 + b_1 a_2^2 = 0 & \Rightarrow b_2 = \frac{-a_2^2}{a_1^3} = 1.48 \times 10^{-3} \text{ A/V}^2 \\ 2b_2 a_1 a_2 + b_1 a_3^2 + b_3 a_1^3 = 0 & \Rightarrow b_3 = \frac{-2a_1 a_2^2 - a_3^2}{a_1^4} = -6.32 \times 10^{-3} \text{ A/V}^3 \end{cases}$$

8. wie. a_1, a_2, a_3, a_0 .

$$B_0 = U_0 + \frac{b_2}{2} U^2$$

$$B_1 = b_{11} U + \frac{3b_3}{4} U^3 = 13.1 \text{ mA}$$

$$B_2 = \frac{b_2}{2} U^2 = 292 \text{ nA}$$

$$B_3 = \frac{3b_3}{4} U^3 = 12.6 \text{ mA}$$

$$9. \quad HD_2 = \left| \frac{B_2}{B_1} \right| \quad HD_3 = \left| \frac{B_3}{B_1} \right|$$

$$= 0.0226 \quad = 0.00665$$

NL-02.

1. ~~$I_{aA} = I_0 \tan \alpha = \frac{U_A}{2U_T}$~~

$$I_{aA} = 0 \Rightarrow U_{eA} = 0$$

$$2. \quad I_a = \sqrt{\beta \cdot I_0} \cdot U_e \cdot \sqrt{1 - \frac{\beta}{4 \cdot I_0} U_e^2} = \sqrt{\beta I_0 U_e^2 - \frac{\beta^2}{4 I_0} U_e^4}$$

$$a_1 = \left. \frac{dI_a}{dU_e} \right|_{U_e=0} = \sqrt{\beta \cdot I_0} \cdot \sqrt{1 - \frac{\beta}{4 \cdot I_0} U_e^2} + \sqrt{\beta \cdot I_0} \cdot U_e \cdot \dots = \sqrt{\beta \cdot I_0}$$

$$a_2 = \left. \frac{d^2 I_a}{dU_e^2} \right|_{U_e=0} = \left[\frac{2\beta I_0 - \beta^2 U_e^2}{2 \sqrt{\beta I_0 - \frac{\beta}{4} U_e^2}} \right]' = \frac{-\beta^2 U_e \sqrt{\beta I_0 - \frac{\beta}{4} U_e^2} - (2\beta I_0 - \beta^2 U_e^2) \cdot \frac{-\frac{\beta}{2} U_e}{\sqrt{\beta I_0 - \frac{\beta}{4} U_e^2}}}{4(\beta I_0 - \frac{\beta}{4} U_e^2)}$$

$$a_3 = \left. \frac{d^3 I_a}{dU_e^3} \right|_{U_e=0} = 0 \cdot \frac{1}{8} \sqrt{\frac{\beta^3}{I_0}}$$

$$3. \quad HD_3 = \left| \frac{A_3}{A_1} \right| = \left| \frac{\frac{1}{4} a_3 U_0^2}{a_1 + \frac{3}{4} a_3} \right| \approx \left| \frac{1}{4} \frac{a_3}{a_1} U_0^2 \right| = \left| \frac{1}{4} \cdot \frac{\beta}{8 I_0} U_0^2 \right| = \frac{\beta}{32 I_0} U_0^2 = 0.01$$

$$\Rightarrow \beta = \frac{0.32 U_0}{U_0^2} I_0 = \frac{0.32}{U_0} I_0 \quad g_m = \sqrt{\beta I_0} \Rightarrow I_0 = \frac{g_m^2}{\beta}$$

$$\beta = \sqrt{\frac{32 HD_3 g_m^2}{U_0^2}} \quad \frac{U_0}{I} = \beta / k_p = 566 \quad I_0 = \frac{g_m^2}{\beta} = 442 \text{ nA}$$

NL-03.

1. $U_{eA} = U_{RE1} + R_E \cdot \frac{I_a}{2} - U_{BE1}$

$$I_{aA} = 0 \Rightarrow U_{eA} = 0V$$

2. $g'_T = \left. \frac{dI_a}{dU_e} \right|_{U_e=0}$, $U_e = I_{a1} \frac{R_E}{2} + 2U_T \tanh^{-1} \left(\frac{I_a}{I_0} \right)$

$$\left. \frac{dU_e}{dI_a} \right|_{I_a=0} = \left[\frac{R_E}{2} + \frac{2U_T}{I_0} \frac{1}{1 - \left(\frac{I_a}{I_0} \right)^2} \right] \Big|_{I_a=0} = \frac{R_E}{2} + \frac{2U_T}{I_0}$$

$$g'_T = \frac{1}{\frac{R_E}{2} + \frac{2U_T}{I_0}}$$

3. $HD_3 = \frac{1}{48} \left(\frac{g'_T}{g_T} \right)^3 \left(\frac{U_0}{U_T} \right)^2$,

$$b_1 = \frac{1}{a_1}$$

$$b_2 = \frac{-a_2}{a_1^3}$$

$$b_3 = \frac{2a_2^2 - a_3}{a_1^4}$$

$$HD_3 = \left| \frac{\frac{1}{4} b_3 U^2}{b_1 + \frac{3}{4} b_3 U^2} \right|$$